PID M 010l CHotOd

It OHLIZ2E 2014-02-25

PID_NO &2 &£

‘ |
Stabilty  POT/DAC |

Si=id=s

=

o O

(1)

v

parameters . parameters
" I

-SP— e—» Stability—e¢' PID —u—» | DAC

POT
PV

SP K& 2t (input & = output)

PV TIZHIAUA & feedback

e :[=SP-PV] Xl&zgtl feedback AFO|2] E X}

Stability : CtS B0l PID Lt POT 2 JtOkSt= £ input 2 H I AHEL.

0l stability 0fl 2o 12710t HH AN S 8t2 ramp £ LIEHE.

B3

POT/DAC mode switch :
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u : CtS B DAC output & 243t St input.
DAC : analogy output,

POT : digital increase/decrease output.
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D = Derivated (0| 2) Do not change it. Same as acc. pump on an old car carburettor.
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